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1. Like video: FihNtA A FRE A Klikefvideo, UN{AiF{LiXTfeature EAEEN

2. Close friend notification: T8 5 F & text notification &5iFfitflclose friends fyUpdate, f0{aliF{LiX-Teature {E4EE N, & Rclose

3. Prime Now, i 2primef9FH&aR, MOEHESRE 7], FRig{RRELIXTHEprime nowfproposal, —EGSEHRAEMEIBA DX TBIBAA01T, RIZMEERN Lvariable #7048, {IEARZMRpresent
4. 1Point3Acres Smart Admit: — 8 =7 ittEE = FEEIE: Build a data product “Smart Admit™: given an applicant's background, predict chance of admission into a program

5. How do you explain this graph? (week 5 is this week)
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6. Dashboard for Careers: Careers team’s mission is to help job seekers find their jobs (search, recommendation). For a weekly report of the team, what metrics are you going to present?
7. Feed diversity: Feed are overly optimized that users start to complain about feed having low diversity. How do you define diversity? (need to get a formula here) How do you measure and monitor to see whether diversity increased/decreased over
time? How to decide on whether this is an issue to worry about?
8. Newsletter: The business sends two newsletters a week: one on Mondays for sales related contents, one on Wednesdays for explorational newsletters. Create a dashboard to monitor newsletter performance over time
9. Revenue goes flat yoy, what data would you use to explain why
10. AB test, slow roll out: How do you explain the result

Table 1: Conversion Rate for two days.
Each day has 1M customers, and the Treatment (T) is better
than Control (C) on each day, yet worse overall

Frida Saturda
neay reay Total
C/T split: 99%/1% | C/T split: 50%/50%
c| 22 _;02% 2090 _ 1.00% 2230 _ 168%
990,000 500,000 1,490,000
T = 2.30% s 1.20% [ 6230 = 1.20%
10,000 500,000 510,000

11. Likes/DAU grows +10% year/ year. Explain why
12. Choosing the right analysis method:

Know past shopping behavior, predict whether or not user will buy a new item

See an image, tell whether it's a cat/dog/human/eic

|dentify Platinum/Gold/Silver users

Two new products, which earns more revenue?

Given 10 slot machines with different payouts, get the best ROI for your $$%7

Know past shopping behavior, predict price user is willing to pay for a new item

We currently provide product X in country Y1 and earn $Z; what if we provide X in countries Y2, Y3, Y47
|s conversion rate consistent across Android/iQOS/Web only users?

o N @ Lok W=

13. Interpret AB testing result, Treatment effect for each group as below:

1. Trt1: -3, Cl: (-7.5, -2.3)
2. Trt2: =13, Cl: (-17, -13)
3. Tri3: -12, Cl: (-28, -4)

How to interpret C.1.7 Which treatment to choose? Increase test power [ accuracy?
14. Map: Where did | park? UserfFE H1T.AE TE G EATERE—RIEE. FEMapiESifuserBCHNEMLE. E4AXH?
15. Friend Recommendation: How do you test a new friend recommendation algorithm?
16. Given data

1. User1 userz #msg

2. 001 002 2
3. 001 003 4
4. ...

2. 003 001 =

What is the distribution of #msgs? Who is the top exchanger for each user?
17. Roll out experiment, What's the expected waiting time to receive treatment? 1K users

1. Day 1: 10 users out of 1000 -= trt
2. Day 2: 10 users out of 990 -> trt
3. Day 3: 10 users out of 980 -= irt
S

5. Day 100: 10 users -= trt

18. Roll out experiment: What's the expected waiting time for the user to first enroll in the treatment? 1K users

1. Day 1: 10 users out of 1000 -= trt
2. Day 2: 10 users out of 1000 -= trt
3. Day 3: 10 users out of 1000 -= trt
S

5. Day 1000: 10 users -= trt

19. Optimal Dice Roll, you have a 6-sided fair dice, your reward is value of very last roll. You have a max of 3 rolls. What is optimal stopping strategy and expected reward amount.

20. X ~ N(0, sigma™2), ¥ ~ N(0, sigma”2), X &Y independent. P(X = 2Y)=7 P(X = |2Y|)=7

21. Coding: find sqrt(x)

22. Coding: F- ™R LA— Ak L — TS EBRA- TS, BRI LENRSHAILBIIGE, BT EEMcodedi®.

23. Coding: Random number generation: Give you a dice with 7 sides, how do you generate random numbers between 1 and 10 with equal probability?

24. Coding: Random sampling on streaming data: A stream of values x1,x2 %3 ...; may or may not end. How do you sample k random items from the stream (without replacement), so that after seeing n data points, the probability that any individual

data point is in the sample is k/n, with only one pass through the stream, and uses storage proportional to k (not the total, n, possibly infinite, size of the stream).
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